LAMBP, SOFT CLOSING MECHANISM FOR INSET RECEDING DOOR:

INSTALLATION INSTRUCTION

IF-102S(SINGLE-TYPE) IF-102W(DOUBLE-TYPE)

&

IF-H102S(SINGLE-TYPE) IF-H102W(DOUBLE-TYPE)

INSTALLATION DRAWING (EXAMPLE) CABINET AND DOOR FABRICATION

Lapcon

Thank you for selecting our product. Before starting installation, please read this manual thoroughly to ensure correct installation.

Please keep this manual at hand for fu

ABOUT THE PRODUCT

ture reference.

+ This product is a set of stays and

hinges for an inset receding door.

SPECIFICATIONS
TYPE IF-102S | IF-102W IF-H102S IF-H102W
DOOR WIDTH less than 1,200 mm
DOOR THICKNESS(T) 15-20 mm 18-30 mm
1.96-6.86N'm| 3.9-13.7N'm | 1.96-6.86N'm| 3.9-13.7N'm
TORQUE MOMENTC | 50701 gt.om) |(40-140kef om)| (20-70kef-om) | (40-140kef-om)

Note: %1 Door height x 1/2 x door weight.
DIMENSIONAL INFORMATION

IF-102S & IF-102W

IF-H102S & IF-H102W

B RECOMMENDED B RECOMMENDED DOOR
DOORHEIGHT HEIGHT
AL-78-14 [263.7 + Tx2| 2987+ T |2609+T| 2959+ T @ The measurement provided AL 35
in the table below is in case the T
AL-78-16| 3145+T | 3495 +7T [311.7+T| 3467 +T door overhangs by 35 mm(A) from T B |
AL-78-19| 3907+ T | 425.7 + T |387.9+T| 4229+T me ;dge c;f l}he to;r)1 t:joard when
AL-7824| 517.7+7T | 552.7 +T |514.9+T| 5499+T © doors Iully Inserted.
s 2 T=Door thickness (mm)
PARTS REQUIRED PER CABINET
@ Bracket ® AL78RAIL  |@® BR[19B2 @ pspar'® IF-102 IF-H102
3 IF-102S (IF-102W | IF-H102S | IF-H102W
. = ® 2
S | g = @ 1pair 14",16"19"or 24"
4 & Z iseparately]|
5 ® GUAD ® 2
SLIDER PLATE( 3) @ Screw-A(M4 X 8) @ >
= Screw-B(M3.5 X 6) ® >
i ® Screw-C(3.5 X 16,Bind tapping) ® a
e Screw-D(3.5 X 16,0val tapping) @ 12
230-C26/19T H230-C26/26T 230-P4W-32T NSDX35(L/RK
@ Tinee ® HiNee @ younTin PLATE @ 50T QN STAY 6
P = ® 36
“| 4l eem ey “ = ) : ) 4
- = C//( D) 2 2 - -
—— T ®| - - 2 2
@ Caution sticker %3 In case of IF-102S, (IF-H102S) lower guard plates are attached. @ 2
1 [ixRxa] 1 [Lx 1R
Note: Use the hinge H230-C26/26T (2 only with
IF-H102

FOR YOUR SAFE WORK AND CORRECT INSTALLATION

Meaning of symbols

Warning
Caution

® Prohibi

ted 0 Required

-
& Caution : If not followed injury or damage may resuilt.

specification.

time every year is recommended).
Affix attached caution sticker onto

Recommended ambient temperature range is 0 ‘C - 40 C .
0 Make sure to check the screws for slack at regular intervals (one month from first usage, half a year and then one

the door.

0 Make sure to follow the designated dimensions, specifications, and horizontal/vertical angles.
Make sure that the cabinet is not warped, since it may affect the movement of the door.

o This is a part for furniture fittings. After installation, make sure to test the finished product thoroughly to ensure that it is well-functioning and safe.
® Do not try to use this product for anything other than its original purpose. Do not use the parts for applications that are out of

42 DEPTH 8
$ 32 gapr—————435(17-1/8") a=3 DOOR WIDTH a=3 Bore on both
3 L o =971/ inner si DOOR WIDTH
N 369.5(14-35/64") A i 15 inner side boards __T4 AT
-3 "
= y p
g | o8 SRR O
— — p = Wy S o f
T I e ) \ b
N R S & Z 010 DEPTH 13 &
o2 N N & & Bore to both w
35 - = 5 DQOR T O inner side boards T
) B ) o © © x x
< > < ISINS oL Q
~ I = t SO o e}
o | 341 @ NIl ® ay a
- (=132 L I =
= <<
| 1 ‘ E), @ ©) T)
I 37 o 7 78— 38H+6
= H-206a) 8 ) il
(1-31/327) ~A i A-A SECTION
~—IN CASE OF 16" SLIDE(406.4 mm) —*
TYPE c d e f
IF-102S, IF-102W 37.5 | 9.5+Door thickness | 225| 35depthl1
IF-H102S, IFFH102W 43.6 | 9.5+Door thickness | 25 | 40 depth15

Drill 2 mm dia. and 8 mm depth holes
inside of the cabinet.

Cut the door so that there is a
3 mm gap between the cabinet and the door.
(a&b gap).

ASSEMBLY

i} Parts Assembly on Cabinet

/@F-15, SLIDER

I Bracket Installation ] Parts Assembly on Door

Mount Position on Cabinet @ Screw M4x8

Arm fixing plate Hinge

@ Mounting plate

DOOR THICKNESS+12 Screw M3.5x6 (Temporarily fix)
3 ; @ Bracket
] 2tobes
: o) No [ A
| m E @ Screw M4x8 & Y R LT
¢ o o o < v
Soft-down Stay
NSDX35(L/R)K 32/ K —>
TYPE h TYPE k
@ AL-78RAIL IF-102S. IF-102W 665 IF-102S, IF-102W 84
IF-H102S, IFFH102W | 71.5 IF-H102S, IFHT02W 82

[3-2 Door Mounting H Door Adjustment

@ Assemble the hinges to the mounting plate.

[3-1 Door Mounting
@ Assemble the hinges to the mounting plate.
Fix the plate after the door

/djustiment.

S
\K’v

Vertical adjustment
Turn clockwise to
lower the door.

Fasten arm of Soft-down stay. : Left-right adjustment Retinghten
e ’ o Y @ Fix arm of Soft-down stay. Loose% vt é e to I\ this screw
. Arm fixing screw adjust, then re-tighten. _ by2N'm

® Mount guard plates.
(To prevent stored articles from
interfering with moving parts 3%4)

@ Mount guard plates.
(To prevent stored articles from
> interfering with moving parts 3%4)

Depth adjustment

Loosen the screws to
adjust, then re-tighten.

Closing speed

FASTER @ SLOWER
adjustment screw

/\ Caution
When installing two stays,
turn the two screws equally.

SUGATSUNE AMERICA, INC

California, USA

Phone: +1 310 329 6373 E-mail:sales@sugatsune.com
Chicago, USA

Phone: +1 312 461 1081 E-mail:chicagoshowroom@sugatsune.com.

(® Guard plate(H) ‘Q ‘§

%4 If the gaurd plates are not enough to avoid
interference install a middle plate.

(® Guard plate(L)

34 Mount guard plate(L) without stay.
Mount guard plate(H) on the side with the stay.
If the gaurd plates are not enough to avoid
interference install a middle plate.

SUGATSUNE KOGYO CO.,LTD SUGATSUNE SHANGHAI Co., LTD
Tokyo, JAPAN Shanghai, CHINA
Phone: +81 (0)3 3866 2260 E-mail:export@sugatsune.co.jp Phone: +86 21 3632 1858

SUGATSUNE KOGYO (UK) LTD Guangzhou, CHINA
Reading, UK Phone: +86 20 6639 3552
Phone: +44 118 9272955  E-mail:sales@sugatsune.co.uk

SUGATSUNE EUROPE GmbH
Diisseldorf, GERMANY Mumbai, INDI

Phone: +49 211 53812900  E-mail:sales@sugatsune.eu  Phone: +91 22 28314490/91 E-mail:sales@sugatsune.in
1S09001(Japan Offices and Sugatsune America) and 1ISO14001(Chiba Production division and Logistics center), certified.

E-mail:lamp@sugatsune.com.cn

E-mail:lamp@sugatsune.com.cn

SUGATSUNE CANADA, INC.

SUGATSUNE KOGYO INDIA PRIVATE LIMITED
A Phone: +1 514 312 5267 E-mail:support@sugatsune.ca

2019.12 1135-3



